LEXUS LX urszoow 2012y

WAL.D

SPORTS LINE

BLACK BISON EDITION

INSTALLATION MANUAL

Sportliche Autoausriistung WALD. International

THANK YOU FOR PURCHASING. THIS IS THE INSTALLATION MANUAL OF WALD FRONT BUMPER FOR LEXUS LX570.
PLEASE READ THIS MANUAL CAREFULLY BEFORE THE INSTALLATION.

% NO RETURNS CAN BE ACCEPTED BECAUSE OF IMPROPER INSTALLATION OR PAINTING.

| ATTENTION

A

% CHECK THE FITMENT, AND ADJUST ALL THE DETAILS BEFORE PAINTING.

B We assume no responsibility for any damage resulting from improper installation, painting, i i primer and caulking glue at
modification and any cut wound in unsealing.

B Contact the car dealer when you have any question in removing OEM parts.

B During all the installation process, use parking brake and stop the engine completely.

B Use rasps or sandpapers to fit the products to the body if there is an individual difference.

B The product is made of FRP. Handle with care. Do not give the excessive force.
Gradually fix the bolts and nuts by checking the fitment and balance of the installation.

B Check the fitment, and adjust all the details of the fitment steady and proper.
Please check the fitment and all the details regularly, fix the bolts and nuts as necessary.

B The instruction of painting is just our recommendation, please paint it as you like.

% PLEASE BE AWARE OF:

B You may lose the warranty and all the services from the car maker, because of replacing OEM parts. :
B Reduced road clearance may cause inconvenience in using parking curbs and garage jack.

B FRP, ABS and PPE products are slightly weaker than OEM parts in crashes.

FREONT BUMPER

i 1 auto accessory shop or hardware store.é

i+ of double sided tape.

i § Use dryer to warm double sided tape to enhance
+ the viscidity in low temperature.
i | Keep the car in a dry condition more than

§ 1 24 hours after gluing.

Please purchase double sided tape,

: i Do not wash the car during this time.

Completely degrease and paint primer on all
: the installation positions to enhance the viscidity

....................... SARTS QUANTTIES
FRONT BUMPER 1
FRONT BUMPER LED LAMP TSET
BOLTS (M5 x 15) FOR FOG LAMP 8
Use caulking glue
+ = to fill the gap
H between the product
N and the body.

1)
2)

3)

4)

5)
6)
7)
8)

[BEFORE PAINTING]

Remove OEM front bumper according to the Lexus service manual.
Temporarily relocate OEM PTS and head light washers to

WALD Front Bumper.

Adjust the details of WALD Front Bumper to fit the body

by rasps or sandpapers.

Make holes if installing OEM license plate base on

WALD Front Bumper.

Paint WALD Front Bumper according to the picture.

[AFTER PAINTING]

Fix the attached LED lamps to WALD Front Bumper.
Refer to the other installation manual.

-
Bl HOW TO RELOCATE
OEM HEAD LIGHT WASHER (STEP 7)

Relocate OEM washer nozzle from
OEM front bumper to WALD Front Bumper.

¢ OEMBOLT

b

WASHER NOZZLE

¥

/(/; >

o
W " (Inside of WALD Front Bumper)
. J

OEM TAPPING SCREW

Adjust optical axis, and make sure the LED lamps are fine to work before the installation.
Fix OEM fog lamps to WALD Front Bumper from the rear with the attached bolts.

Temporarily install WALD Front Bumper to the body after fixing all the necessary parts.

OEM CLIP

Hl HOW TO PAINT
OEM REINFORCEMENT

Paint OEM reinforcement in black
not to be noticeable.

Check all the details of the fitment, then tighten with OEM clips and tapping screws.

B WALD SHOWCAR IS PAINTED,
LIKE THE PICTURE (STEP 4)

o

DARK SILVER

MATTE BLACK SILVER

/\ ATTENTION

% MORE THAN 2 TECHNICIANS ARE NECESSARY IN THIS WORK.
DURING ALL THE INSTALLATION PROCESS, PLEASE BE CAREFUL NOT TO DAMAGE THE BODY.
% ADJUST ALL THE DETAILS OF WALD PRODUCTS TO FIT ON THE BODY.

OEM FRONT GRILLE -

OEM BUMPER GRILLE

Stick—in hook part must be fixed
with caulking glue to prevent
OEM front grille and bumper grille
coming off.

B HOW TO INSTALL PTS (STEP 7)

Remove PTS and bases,
then use caulking glue to fix them to
WALD Front Bumper from the rear.

OEM LICENSE
PLATE BASE

OEM HEAD LIGHT
WASHER COVER

ATTACHED LED LAMP

OEM FOG LAMP INSTALLED WITH THE ATTACHED BOLT

OEM TAPPING SCREW

% Use OEM resin parts to install

WALD Front Bumper.
(Exactly same with OEM installation process)

(Inside of WALD Front Bumper)
Q\X
X /[ (outside of
OEM RESIN PART WALD

Front Bumper)

WALD.INTERNATIONAL

—o=

WALD. INTERNATIONAL
ADD: 10-13 KYOGUCHI-CHO, TAKATSUKI, OSAKA, JAPAN

ZIP: 569-0072 TEL: (81)-72-673-3000 FAX: (81)-72-673-3003

2013/07



LEXUS LX urszoow 2012y

INSTALLATION MANUAL

Sportliche Autoausriistung WALD. International

WALD SPORTS LINE

BLACK BISON EDITION

THANK YOU FOR PURCHASING. THIS IS THE INSTALLATION MANUAL OF WALD REAR BUMPER FOR LEXUS LX570.

PLEASE READ THIS MANUAL CAREFULLY BEFORE THE INSTALLATION.

% NO RETURNS CAN BE ACCEPTED BECAUSE OF IMPROPER INSTALLATION OR PAINTING.
% CHECK THE FITMENT, AND ADJUST ALL THE DETAILS BEFORE PAINTING.

modification and any cut wound in unsealing.
B Contact the car dealer when you have any question in removing OEM parts.
B During all the installation process, use parking brake and stop the engine completely.

| ATTENTION

A

B The product is made of FRP. Handle with care. Do not give the excessive force.
Gradually fix the bolts and nuts by checking the fitment and balance of the installation.

B Check the fitment, and adjust all the details of the fitment steady and proper.

Please check the fitment and all the details regularly, fix the bolts and nuts as necessary.
B The instruction of painting is just our recommendation, please paint it as you like.
% PLEASE BE AWARE OF:

B You may lose the warranty and all the services from the car maker, because of replacing OEM parts. :
B Reduced road clearance may cause inconvenience in using parking curbs and garage jack.

B FRP, ABS and PPE products are slightly weaker than OEM parts in crashes.

B We assume no responsibility for any damage resulting from improper installation, painting, i primer and caulking glue at

SARTS TS
i i Please purchase double sided tape, REAR BUMPER REAR BUMPER T
: hop or h f L =

i auto accessory shop or hardware store.: BLELECIORS !
. . . H HEAD CAP SCREWS (M6 x 15)

: i Completely degrease and paint primer on all B e M o 2
i 1 the installation positions to enhance the viscidity BRACKETS FOR MUD GUARD 2

X

B Use rasps or sandpapers to fit the products to the body if there is an individual difference.

i 1 of double sided tape.

i § Use dryer to warm double sided tape to enhance
+ the viscidity in low temperature. :
i | Keep the car in a dry condition more than :
§ 1 24 hours after gluing.

(l HOW TO INSTALL
OEM TAIL FINISHER
TOYOTA OEM PARTS NUMBER
52106-50030 / 52107-50030
_ OEM TAIL FINISHER

’\

Cut out the rear part

3¢ Opening of OEM Tail finisher must be covered
by mesh or a piece of WALD Rear Bumper.

Use caulking glue —=—
to fill the gap~~
between the product
and the body.

: i Do not wash the car during this time.

(& J/

BEFORE PAINTING
[ ] , , (W WALD SHOWGAR IS PAINTED )
1) Remove OEM rear bumper according to the Lexus service manual. LIKE THE PICTURE (STEP 6)
2) T.emporarlly fix WALD Rear Bumper to the body B HOW TO INSTALL THE

with the necessary OEM parts. ATTACHED MESHES (STEP 7)
% Adjust the details of WALD Rear Bumper to fit the body Use pins and caulking glue to install the

by rasps or sandpapers. attached meshes to WALD Rear Bumper from the rear.
3) Fix WALD Muffler Adaptor (sold separately) to change the angle

of the exhaust pipe to the ground.
4) Cut OEM mud-guard according to the shape of WALD Rear Bumper, \

then mark the positions for the attached tapping screws. ?
5) Make holes according to the marked positions ‘

R ATTACHED

after taking off WALD Rear Bumper from the body. MESH

6) Paint WALD Rear Bumper according to the picture.
MATTE BLACK

[AFTER PAINTING]

7) Use caulking glue to fix the attached meshes, reflectors,
PTS and OEM urethane cushionson WALD Rear Bumper. B HOW TO INSTALL PTS (STEP 6)
8) Fix the attached LED lamp on the Towing Hook Cover. Remove PTS alnd bases, .
% Mak h hed LED | is f . then use caulking glue to fix them
* ake sure the attache amp is fine to worl to WALD Front Bumper from the rear.
before the installation.
9) Temporarily fix WALD Rear Bumper to the body N\

-

Bl HOW TO INSTALL THE
ATTACHED LED LAMP
(STEP 8)

(Inside of the
Towing Hook Cover)

with the necessary OEM parts.
10) Check all the details of the fitment,
then fix all the OEM bolts and clips.

/\ ATTENTION

% MORE THAN 2 TECHNICIANS ARE NECESSARY IN THIS WORK. .
DURING ALL THE INSTALLATION PROCESS,
PLEASE BE CAREFUL NOT TO DAMAGE THE BODY.

% REMOVE THE BATTERY BEFORE ALL THE WIRING WORKS.

ATTACHED NUT  ATTAGHED LED LAMP -

2¢Connect the harness to rear fog lamp.

HEXAGON SOCKET ,~"§

1

OEM REAR STEP GUARD

OEM UNDER COVER

OEM URETHANE CUSHION

,. HOW TO INSTALL OEM MUD-GUARD
(STEP 4)

Cut the [l part according to WALD Rear Bumper.
Use the original holes to install the

attached brackets to OEM mud-guards.

ATTACHED WALD Rear Bumper

BRACKET: \H THE BODY|
ng
=® TAPPING ‘ H ” ‘
SCREW Ope—
(M4 x 15)
’ ATTACHED REFLECTOR Cut here. OEM MUD-GUARD

(Cross Section for the
attached tapping screws))

K Use caulking glue to install from the rear.

% ADJUST ALL THE DETAILS OF WALD PRODUCTS TO FIT HEAD CAP SCREW -2 L
ON THE BODY. (M6 x 15) a
—o= WALD. INTERNATIONAL

WALD.INTERNATIONAL ADD: 10-13 KYOGUCHI-CHO, TAKATSUKI, OSAKA, JAPAN

ZIP: 569-0072 TEL: (81)-72-673-3000 FAX: (81)-72-673-3003

2013/07



LEXUS LX urszoow 2012y

WAL.D

SPORTS LINE
BLACK BISON EDITION

INSTALLATION MANUAL

Sportliche Autoausriistung WALD. International

THANK YOU FOR PURCHASING. THIS IS THE INSTALLATION MANUAL OF WALD OVER FENDER FOR LEXUS LX570.

PLEASE READ THIS MANUAL CAREFULLY BEFORE THE INSTALLATION.

% NO RETURNS CAN BE ACCEPTED BECAUSE OF IMPROPER INSTALLATION OR PAINTING.

% CHECK THE FITMENT, AND ADJUST ALL THE DETAILS BEFORE PAINTING.

modification and any cut wound in unsealing.
B Contact the car dealer when you have any question in removing OEM parts.

| ATTENTION

A

B The product is made of FRP. Handle with care. Do not give the excessive force.

B Check the fitment, and adjust all the details of the fitment steady and proper.

Please check the fitment and all the details regularly, fix the bolts and nuts as necessary.

B The instruction of painting is just our recommendation, please paint it as you like.
% PLEASE BE AWARE OF:

B You may lose the warranty and all the services from the car maker, because of replacing OEM parts.
B Reduced road clearance may cause inconvenience in using parking curbs and garage jack.

B FRP, ABS and PPE products are slightly weaker than OEM parts in crashes.

B We assume no responsibility for any damage resulting from improper installation, painting, i primer and caulking glue at

B During all the installation process, use parking brake and stop the engine completely.
B Use rasps or sandpapers to fit the products to the body if there is an individual difference.

Gradually fix the bolts and nuts by checking the fitment and balance of the installation.

PI ............. h ...... d blddt TS AT

: 1 Please purchase double sided tape, OVER FENDER 1 SET
: OVER FENDER LED LAMP 1SET

i i auto accessory shop or hardware store.: TAPPING SCREWS (M4 x 15) 20
Completely degrease and paint primer on all
i i the installation positions to enhance the viscidity
i 1 of double sided tape.
i i Use dryer to warm double sided tape to enhance i Use caulking glue ["\‘\ :
i+ the viscidity in low temperature. i to fill the gap 7 =
i 1 Keep the car in a dry condition more than i between the product Tdm o
i 2Zehp ainac y i and the body. 4 //\‘ :
i i 24 hours after gluing. i ~—— 750/, 4|
it Do not wash the car during this time. ] = e ﬁ/&» :
i H 7 :

[BEFORE PAINTING]

1) Temporarily fix the attached LED lamps to WALD Over Fender.

3 Adjust the details of WALD Over Fenders to fit the
attached LED Lamps by rasps or sandpapers.

Bl WALD SHOWCARIS
PAINTED LIKE
THE PICTURE (STEP 5)

w77
=

then use caulking glue to fix the attached LED lamps. \ J

2) Mark the installation positions on the body with masking tape
after checking the fitting.

Make holes on WALD Over Fenders and the body to fix

the attached tapping screws.

Prepare to connect the attached LED lamps.

3)

4)
5)

[AFTER PAINTING]
6)

Insulate any spare harness.
SILVER

Paint WALD Over Fenders according to the picture.

Completely degrease the installation positions,

Make sure the attached LED lamps are fine to work
before the installation.

(W HOW TO INSTALL THE
ATTACHED LED LAMPS (STEP 1, 6)

7) Completely degrease the installation positions,

then use caulking glue to install WALD Over Fenders
to the body.

Connect the harness of the attached LED lamps,
then tighten the attached tapping screws.

Leave them till completely fixed.

8) LED LAMP (Face of the lens)
Use heat resistant caulking glue to fix the
attached LED lamps on WALD Front Bumper
according to the picture.

9)

TAPPING SCREW
3 (M4 x 15)

TAPPING SCREW (M4 x 15)
TO FIX WITH WALD REAR BUMPER

/I\ ATTENTION

% MORE THAN 2 TECHNICIANS ARE NECESSARY IN THIS WORK.

DURING ALL THE INSTALLATION PROCESS, PLEASE BE CAREFUL NOT TO DAMAGE THE BODY.
% REMOVE THE BATTERY BEFORE ALL THE WIRING WORKS.
% ADJUST ALL THE DETAILS OF WALD PRODUCTS TO FIT ON THE BODY.

TAPPING SCREWS
(M4 x 15)

Need the extra modification on OEM inner liners
and fenders when installing the wheels according
to the width of WALD Over Fenders.

TAPPING SCREW (M4 x 15)
TO FIX WITH WALD FRONT BUMPER

WALD. INTERNATIONAL
ADD: 10-13 KYOGUCHI-CHO, TAKATSUKI, OSAKA, JAPAN

—o=
WALD.INTERNATIONAL

ZIP: 569-0072 TEL: (81)-72-673-3000 FAX: (81)-72-673-3003

2013/07



LEXUS LX URJ200W 2012y IO IQS'T\A}@‘S»LMAM

THANK YOU FOR PURCHASING. THIS IS THE INSTALLATION MANUAL OF LED LAMPS ON WALD FRONT BUMPER FOR LEXUS LX570
PLEASE READ THIS MANUAL CAREFULLY BEFORE THE INSTALLATION.

................. ><NORETURNSCANBEACCEPTEDBECAUSEOFIMPROPERINSTALLATIONORPAINTING SAmTS RS
: % CHECK THE FITMENT, AND ADJUST ALL THE DETAILS BEFORE PAINTING. i i Please purchase double sided tape, 777 v LED LAMP TSET
: B We assume no responsibility for any damage resulting from improper installation, painting, : : Primer and caulking glue at :
: modification and any cut wound in unsealing. i i auto accessory shop or hardware store.:
: ATTENTION B Contact the car dealer when you have any question in removing OEM parts. : : :
H : Buring all the ins‘(tjallation p;rofc_ffﬁ, use garl;in? ki[t]akke) a(;]d'?tt%p thg engi_n(e;_c%mplle;_?c;y. : Completely degrease and paint primer on all :
: se rasps or sandpapers to fit the products to the body if there is an individual difference. } i 4, ; . iocidity
B The product is made of FRP. Handle with care. Do not give the excessive force. H the mSta”at.lon positions to enhance the viscidity e eememeeeeeeeeeeememeeeeaeeeemm e
Gradually fix the bolts and nuts by checking the fitment and balance of the installation. i of double sided tape. ) HH ]
: B Check the fitment, and adjust all the details of the fitment steady and proper. i 1 Use dryer to warm double sided tape to enhance : : Use caulking glue
Please check the fitment and all the details regularly, fix the bolts and nuts as necessary. ! ! the viscidity in low temperature. i1 = tofill the gap
: I;’rLrI;eASiESBtEuACVVA?;E%fF'painﬁng is just our recommendation, please paint it as you like. Keep the car in a dry condition more than Z:Eivﬁeenb?dey.pmdwt
B You may lose the warranty and all the services from the car maker, because of replacing OEM parts. : 24 hours after glumg. . L
B Reduced road clearance may cause inconvenience in using parking curbs and garage jack. i i Do not wash the car during this time. HH
B FRP, ABS and PPE products are slightly weaker than OEM parts in crashes. H :
B The product may not match the body and OEM color perfectly. : N

LED LAMP

[BEFORE PAINTING]
1) Temporarily fix the attached LED lamps according to

= WIRING DIAGRAM =
the guide—line wallls on WALD Front Bumper.

X Adjust the details of WALD Front Bumper to fit the
attached LED lamps by rasps or sandpapers.

2) Prepare to connect the attached LED lamps.

X Insulate any spare harness.

[ AS DAYLIGHT ]

|—| BLACK(-® | GROUNDING WiRE |
- BLUE|—e [PosiTION LAWP]

HKlInsulate OEM fog lamp harness.

[AFTER PAINTING]
3) Completely degrease the installation positions,

30IS ¥

then put the atached LED lamps according to

the guide—line walls on WALD Front Bumper.
4) Use caulking glue to fix the attached LED lamps
after checking the angle and location.

GUIDE-LINE WALL

5) Leave them till completely fixed.
6) Install WALD Front Bumper to the body after connecting the harness.

(B HOW TO INSTALL THE )

ATTACHED LED LAMPS (STEP 1, 3)

LED LAMP (Face of the lens)

Use heat resistant caulking glue to fix the
attached LED lamps on WALD Front Bumper
according to the picture.

LED LAMP

A ATTENTION (Inside of WALD Front Bumper)

% REMOVE THE BATTERY BEFORE ALL THE WIRING WORKS.
% MAKE SURE OEM FOG LAMPS ARE FINE TO WORK BEFORE THE INSTALLATION.

WALD. INTERNATIONAL
WALD.INTERNATIONAL ADD: 10-13 KYOGUCHI-CHO, TAKATSUKI, OSAKA, JAPAN  ZIP: 569-0072 TEL: (81)-72-673-3000 FAX: (81)-72-673-3003 2013/07



	lx570_2012y_front
	lx570_2012y_rear
	lx570_2012y_overfender
	lx570_2012y_led

